
Hinged
door

Kit  36905000



2/4

Kit Hinged door 36905000

Kit Bracket SMF 36700074

Troax sign 89200000

x2

x1

x1 x2x4
60x4060x40 M8x28

Kit Hinge 36904990

x2 x1 x1x2 x2
M8x35 M8 60x4060x40 20/30

20/30

x2 x2 x2x2

x2 x2x2x2 x2x15

Bag for kit 88695000

50x20

M8x35 M8x35M8 M8 18x10,3x4

50x20

Ø10 19 mm 6 mm13

1/4” (6,4 mm)



3/4

1

2

4

Kit Hinge

Bag for kit

3

ST30

ST30

ST20

ST20

M8x35

M8x35

M8

M8



5 6 7

8

9

12 14

10 11

Bag for kit

sign

Bag for kit

700
800
1000
1200
1500

=
=
=
=
=

810	
910	
1110	
1310
1610

Door panel 
width

Door stay 
length

15

13

x2

M8x35 M818x10,3x4

4/4

Kit bracket SMF

dybowski
Rechteck

dybowski
Rechteck




